No. 1 ZF 4x50m TUY—1L— i
g2 1:47.98 X% 1:51.06
F-LES IVM)-344
1. XSS ( ) 11 2:00.00
2. TST ( ) 27 1:58.00
3. BIFFHE ( ) 7 1:57.00
4. XY ZRIFF ( ) 23 1:53.00
5. KpmAES ( ) 15 1:55. 00
6. WAYUATT(H ( ) 19 1:58.00
1. {EREES ( ) 3 2:00.00
8. FSC ( ) 33 2:04.00
No. 2 BF 4x50m JYJ—yL— FiE
2 1:30. 66 X% 1:34.21
11$E ( ) F-LES IyM)-544
2. ( )
3. KpWsSs ( ) 29 2:00.00
4, K#ESS ( ) 9 1:51.00
5. MFUAtT(5 ( ) 17 1:52.00
6. ( )
1. ( )
8. ( )
248 F-LES IVM)-544
1. TST ( ) 25 1:45.00
2. FSC ( ) 31 1:40.00
3. BIFFHE ( ) 5 1:38.00
4. XY ZRIFF ( ) 21 1:36.00
5. ik#te ( ) 35 1:37.49
6. KpHES ( ) 13 1:40.00
1. {EREES ( ) 1 1:45.00
8. DCHoC= ( ) 37 1:47.00
No. 3 Z&F 200m BHE FiE
2 2:03.59 X%  2:04.51
158 &= IM-5{L 248 &5 IVM-544
1. ( ) 1. BO  #BA (E—FrXE ) 3 205 2:15.17
2. #B FEK (TST ) M 161 2:39.85 2. O &K (NASKD ) &1 214 2:14.36
3. KEHIEAE (XYZRFF ) =1 133 2:29.25 3. HIl XRE (ERaEEEs ) =i 17 2:08.00
4 e KK (XY ZRIRF ) 16 138 2:28.69 4 FE EA (TST ) &l 151 2:06.06
5. KX B (TST ) = 158 2:29.06 5. &g HE (EaEHsE ) =2 10 2:07.50
6. HFH KB (XYzamF ) =1 137 2:34.62 6. %k IEZ (WE4vRTE4S ) H2 91 2:08.76
1. #T 7»m (SACOT ) 1\6 191 2:41.78 7. lUE Iz (SACOT ) i 186 2:14.96
8. ( ) 8. B X% (SACOT ) 3 183 2:16.83
248 &ES IyM-54L  3#H &5 IVM-444
1. # T #E lEpeegs ) =l 23 2:25.00 1. &k —2 (RoifgeEs ) =3 74 2:04. 67
2. BE #E (RIFFERE ) &2 36 2:23.21 2. ®RE #Fi% (XY ZREF ) =3 113 2:01.49
3. NEBHK (NASK%S ) 2 217 2:18.30 3. EIL =X (Koimes ) &l 83 2:00. 52
4. BE DB (REK ) K3 2317 2:05.37 4. Kk BE (BIFFHE ) =3 26 1:55.95
5. ZEHEK (RoEEs ) =2 89 2:09.46 5 w=HE B0t €PN ) K3 242 1:56. 26
6. EA &R (xvzﬂulﬁ ) 2 131 2:20.33 6. #EAR B (RIS ) &l 32 2:00. 64
1. =8 EZE W4V RTE4 S ) N6 103 2:23.51 1. Wik —X (Roifges ) =2 79 2:02.80
8. G «KIB (LuAJSC ) 199 2:27.32 8. _E &K (RHmsSs ) =3 165 2:05. 47
No. 4 BF 200m BHEFE FE No. 5 ZF 200m k= i
2 1:49.13 X% 1:50.85 2 2:28.64 & 2:35.14
158 &= IM-5{L 148 E IVM-544
1. ( ) 1. ( )
2. ( ) 2. ( )
3. I A5 (KHEFKyD ) i 47 2:20.49 3. hE ik (E—FrXE ) 2 209 3:18.72
4. IV ER (HAS&T ) 16 54 2:18.88 4. FH X (KEES S ) 2 69 3:07.46
5. Tifg KBE (TST ) /N6 152 2:19.96 5. #k BH (E— bX1E ) 210 3:12.06
6. KE #EA (XYZRIF ) 106 2:23.96 6. ( )
7. ( ) 1. ( )
8. ( ) 8. ( )




No. 5 &% 200m Fjk=F FiE No. 9 Z&F 200m FEkE FE
2 2:28.64 K& 2:35.14 [ 2:12.75 X£& 2:15.80

24f &5 IvM-54h  1#8 &5 IVM-544

1. BAX %  (RFSs ) &3 34 2:59.09 1. ( )

2. By BF (W#4vAE4S ) 2 98 2:47.86 2. ( )

3wy B (Co2(=F:h A=) ) &l 22 2:43.00 3. RESTTE (XY Z%IJF' ) i 135 2:56.00
4. BB =7 (Wa¥vatt44 ) &3 97 2:36.53 4. %E TR (KEES ) il 70 2:43.57
5. R Wi (W#4vAE4S ) 3 96 2:41.63 5. mE &Y (XY Z%IJF' ) i 132 2:50.00
6. #HA K (X#ES S ) &2 66 2:45.83 6. ( )

1. HFEXRE (SACOT ) &3 189 2:56.63 7. ( )

8. ( ) 8. ( )

No. 6 EBF 200m FixE FiE

g2 2:10.23 £ 2:11.97

14 %5 IyM-94h  24#8 &5 IYM-54h
1. ( ) 1. BhHYT (KFES s ) = 67 2:37.06
2. ( ) 2. B B (NASK» ) H2 218 2:35.18
3. HAE EKX (KFES S ) &1 62 2:48.34 3. 5 [5 (KFES S ) = 65 2:29.51
4. K&y hE (REFKD ) 2 45 2:42.64 4. KA #F#ZE (Jb#ﬂzxtﬂ’i ) & 95 2:21.06
5. &k EKRX (EREHS ) B2 7 2:45.50 5. KA ik (R & ) =3 86 2:29.28
6. ( ) 6. & B& (JW‘?JZHW}' ) ®§2 99 2:30.77
1. ( ) 1. R FHE (TST ) i 159 2:36.83
8. ( ) 8. ( )

No. 10 BEF 200m HEikE FiE
2 :06. 87 X& 2:06.87

248 &5 IvM-94L 148 &5 IVM-44L

1. T B— (SACOT ) &3 184 2:41.26 1. ( )
2. #E E (RpitmeEs ) =i 84 2:32.92 2. ( )
3. B RE (B FE&H ) =2 29 2:25.56 3. N BB (RKpEFKD ) 1 48 2:38.55
4. FE (RER (E— th?j_: ) =3 204 2:20.00 4. BE #h (Cr (= ) =1 15 2:25.21
5. t%H BE (R E ) =3 73 2:24.73 5. HIFHREXR (EaEEHE ) =1 13 2:31.73
6. NEF fHA (D HJS C ) &1 39 2:27.92 6. ( )
1. K% ifk#f (Double.D ) &2 201 2:35.99 1. ( )
8. ( ) 8. ( )
No. 7 &F 200m NE2T754 FiE

g2 2:13.67 XE£  2:16.02
1 ( ) %5 IYM-944 21.%5 ( ) &5 IVM-54h
2. %M 3 (TST ) &2 157 2:38.73 2. 5 RA (XY ZBIKF ) ®1 124 2:24.90
3. RE ®mE (K% \FﬁSS ) i 167 2:28.00 3. BFt & (RoifEeEs ) =3 77 2:19.67
4. B)|| E=E (Ko ifEmE ) =3 88 2:14.08 4. BIE W@EX (XY ZBIKF ) = 118 2:14.517
5. EHEIEED (E— I~7U'£ ) &3 207 2:24.85 5. thisf b (RoiHEs ) = 76 2:15.06
6. 5@ =& Gl ) &2 38 2:33.57 6. = EW (u=A<JSC ) 3 194 2:23.45
;. #®ik EH EX Y Z Bl FF g $i3 129 2:46.62 ; AR EE{EIE%W% ; = 11 2:25.00
No. 8 BF 200m N2T754 FiE No. 11 &F 50m HHA® FiE

2 1:58. 31 X< 2:00.03 [ 26. 64 XE 26. 86

11%H ( ) &5 IYM-444 11,%ﬂ ( ) &5 IVM-544
2. ( ) 2. ( )

3. mE KE (KpmsSs ) =3 164 2:31.33 3. BEH EM (K#Es s ) N6 71 34 34
4. #AK AKX (XY Z BIKF ) &2 115 2:26.34 4, BANHE (K#ES S ) N6 12 34.23
g NE €4 ETST g ING 153 2:29.67 5. ZEB ZDTE (TST ) M 160 34.29
. 6. ( )
1. ( ) 7. ( )
8. ( ) 8. ( )

2% %5 Iyh-944  24#8 &5 IVM-54h
1. RE +x& (XY ZBIFF ) ®2 122 2:20.84 1. #F 7m (SACOT ) IN\6 191 33.77
2. AiL B (EBREmRE ) & 12 2:13.90 2. BREEHE (SACOT ) /1D 192 33. 46
3. X¥H iE (KBRFEEXE ) K2 241 2:07.92 3. ¥H A (NASK%® ) I1N\6 221 33.43
4. NI 2 (BFEEX ) K38 238 1:58. 31 4. BE Kt (XY ZBIFF ) /1D 142 33.22
5. BE% &B— (KBfAEXE ) X4 240 2:04.03 5. #3ER HK (TST ) M 161 33.43
6. HEm Et (RoiEEEs ) = 75 2:10.90 6. E=E =K (DKHJISC ) 6 42 33. 46
1. XH F|iK GlsE ) B 31 2:14.16 1. HIlELA (u=A<JSC ) &1 200 33.75
8. ) 8. BN HT (XY ZBIKF ) i 136 34.17




No. 11 Z&F 50m B/ARE TiE No. 12 BF 50m EBEMAERF FiE

g2 26. 64 N 26. 86 g2 22.31 & 22.75
34 = IyM)-54h 148 &5 IVM)-94L
1. RESHNHTE (XY ZRBIRF ) 1 135 32.94 1. ( )
2. BK = (XY ZRIKF ) N 143 32.50 2. ( )
3. KR £l (Wa4vatt44 ) /b 105 32.14 3. JIlE E&E# (TST ) N6 153 33.50
4. = & (Co2(=F:h A=) ) &3 18 32.00 4. #E ¥t (K#Es s ) il 61 30.20
5. AR MK (BAS&T ) 2 56 32.03 5. Y@ 1&4E (TST ) IS 154 30. 44
6. 5 KB (XY ZBIRF ) 1 137 32.14 6. ( )
1. ki T2 (W#vAE4S ) /N6 104 32.68 1. ( )
8. &h #HEF (RDEFKD ) N6 50 33.13 8. ( )
4% %5 Iyh-944 248 &5 IUM)-444
1. = Fig (D<HJISC ) 3 40 31.93 1. /N X (HHAS&T ) N6 54 30.16
2. BfE EFAlG (Fsc ) &3 174 31.72 2. HE AR (XY ZBIFF ) /16 126 29. 82
3. 1@ R (RAEFKSD ) /16 51 31.58 3. EX E£E (XY ZBIKF ) /3 120 29. 64
4. &fE BE (Fsc ) i 175 31.32 4. £ IR (XY ZBIKF ) i 125 29.29
5. HH #F¥ (Fsc ) 3 173 31.46 5. A (RHEFKRD ) 1 47 29.57
6. HZHBEAE (XY ZHIFF ) &1 133 31. 61 6. TfE KE (TST ) /6 152 29. 68
1. 3K ZF (EREHS ) B 21 31.80 1. BE X% (SACOT ) /3 183 29.90
8. BE MZE (XY ZRIKF ) N6 139 31.97 8. ( )
5% &5 IvM-444 348 &5 IVM)-944
1. &% Zn (K#EsS s ) i 70 31.04 1. B =% (RHEFKHD ) 2 46 29. 14
2. FENlIZZ (LA JSC ) 3 197 30. 89 2. HEBE—H (R &er ) 4 29.00
3. & &R (FScC ) 3 172 30. 64 3. A WmE (K#&ES S ) /3 60 28. 42
4. #FHE E (ES P20 Ek] ) 101 30. 52 4. EL BX (DZDZ= ) K3 234 28.00
5. =8 FEZHE W#4vRTE4 S ) 6 103 30. 60 5. BO0  ®3h (E—bXE ) ®H3 205 28. 21
6. 1= ¥ (NASK%S ) N6 220 30.72 6. EH F=R (ESMIoret] ) IN6 93 28. 94
1. @K Bl (TST ) 158 31.01 1. E% BA (IuAJSC ) 2 196 29.02
8. &% & (RO EES ) &l 25 31.28 8. A #Hi=E (BrESC JI==K] 177 29.14
6 A %5 Ivh-944 448 &5 IUM)-444
1. 8HF =0 (Double.D ) K2 202 30. 23 1. BE EA (Ryiges ) =l 85 27.93
2. EF D (KPS s ) &=l 68 29.73 2. Bk &z (ESPIVvik] ) 2 91 27.49
3. 1B XEHK (XY ZRIFF ) 2 130 28.88 3. BHE 7 (RIFFEH ) &=l 30 27.42
4. WE 2k (E— bX#E ) &3 208 27.78 4. E% A (EREHS ) &=l 14 27.17
5. ftH g M (TST ) &=l 156 28.29 5. £ BT (TST ) =2 150 27.22
6. \EEBHK (NASKyn ) 2 217 29. 46 6. A IS (K#ES S ) =3 58 27.45
1. B8 FK (NASK%m ) 3 216 29. 81 1. F0E  BEst (RN EES ) =2 24 27.88
8. I R (XY ZBIKF ) N6 140 30.50 8. HA &KX (NASK® ) &l 214 27.93
7 48 £S5 DML 54 &2 DM-HL
1. IRFT & (LA JSC ) &3 198 30.18 1. WX &£x (I A Jsc ) ®3 195 27.08
2. ®E AP (XY ZRIKF ) i 132 29. 60 2. /EFL B (R &er ) 5 26.97
3. ER KRB (ks ) 229 28. 87 3. R (E—bXE ) =1 203 26. 85
4. 1B HEER (XY Z BIKF ) &l 128 27.35 4. {RE BuE (LAELAC ) X4 182 26.50
5. ZEHHEK (Ko EHES ) &2 89 27.94 5. INEF = (K#ES S ) &l 59 26. 66
6. RZHH®E (XY ZBIKF ) =3 127 29.04 6. X &£+ (TST ) K2 148 26. 86
1. & BF (Co2(=F:h A=) ) &3 19 29. 80 1. 8K AKX (XY ZBIRF ) =2 115 26.97
8. M2 [&XE (XY ZRIRF ) /N6 141 30. 48 8. %k —=z (RoHEs ) =3 74 27.15
8 #A %5 Iyh-944 6% &5 IUM)-444
1. e KK (XY ZBIKF ) N6 138 30.13 1. BHR Mc (DZDZ=E ) 231 26.27
2. A FEIB (EREHS ) B 20 20. 47 2. NI B (EREHS ) &=l 16 26.10
3. Bi (@ (BIFFENH ) & 35 28. 60 3. 5 B (KoHmsSs ) 162 26.03
4. }RFT TEE (BfEEX ) K1 239 26. 64 4. L —X (RoiftEes ) =2 79 25.78
5. MK EiE (D<HJISC ) 3 4 27.86 5. 1lbA wRZE (REHS ) = 6 25.90
6. hE BEBI (BIFFENH ) & 37 28.94 6. BH KXH (RIFFEE ) = 28 26.08
1. % BE= (NASKXZ ) i 219 29.75 1. A% kK& (EREHS ) = 8 26.18
8. Bl FH (E—FXHE ) N6 212 30. 23 8. Mk #Fis (XY ZBIFF ) ®2 121 26. 36




No. 12 BEF 50m HBHHR® FiE No. 14 B¥F 50m Lk E FE
g2 22. 31 N 22.75 2 27.97 N 28. 27
7 48 = IvM-94L 148 &5 IVM)-94L
1. 8F =X (FscC ) 17 25.33 1. ( )
2. WT #hiE (RoiEwmEeEs ) =3 78 25.23 2. ( )
3. EE #i#&k (k& ) 226 24.217 3. A #H=E (BrEScC ) 3 177 40. 80
4. BXK EEBE (REK ) K2 236 23.75 4. A HE (KFES S ) =3 58 36. 42
5. 5% E#t (k#t= ) 228 23.91 5. AR KHF (K#ES S Y UG 63 36 43
6. E@ BT (TST ) X4 147 25.12 6. ( )
7. HHEE KRS (XYZR/F ) =2 114 25.29 7. ( )
8. &H#H {5t (DZDZ= ) X4 233 25. 62 8. ( )
8 #i %5 IM-44L 248 &5 IVM-544
1. 8R -& (NASKS ) & 213 25.32 1. X8 &£&+ (TST ) K2 148 34.53
2. NF EW (HAS&T ) B 53 25.23 2. R¥  §R#x (Double. D ) H2 201 32.94
3. AT & (BfEAEX ) K3 238 24.26 3. EE B (RIFFEH ) =3 27 31.60
4. sl EER (XYZRREF ) X6 108 23.54 4. %k #x (LAEWLAC ) 179 29. 49
5. INEF HIE (ks ) 225 23.84 5. XKy —E (Roym&eir ) 3 30. 59
6. EF & (FScC ) 170 25.00 6. ik B (XY ZBIRF ) &3 112 31.87
1. INEF kB (Xyzamg ) =i 116 25.28 1. %% BX (EREEHE ) =2 7 34.00
8. 1EIE —iF (TST ) 145 25.55 8. ( )
9#f &5 IyM-54L  3#H &5 IVM-444
1. hfE R (XYZzRF ) 3 119 25.29 1. £8 ZEz= (TST ) &2 150 34.28
2. ik #ath (XY ZRIKF ) K2 111 25.13 2. thi& K5 (LAELAC ) X4 181 32.00
3. EEEARE (XY ZRIKF ) K2 110 24.00 3. #2E w3 (DZDZ=E ) 232 31.50
4. SHEKER (XY Z3F ) 107 22.72 4. FLILTFHIIE (LAEWAC ) 180 28.59
5. Xk BE (RIFTERE ) =3 26 23.71 5. k& B& (BIFFEAE ) =3 26 30. 25
6. FE G (E—bXE ) 3 204 24. 91 6. #L £ (K% E’Eibﬁ"‘.—: ) &l 84 31.78
1. @ iR (W#4vAT44 ) &l 90 25.25 1. Xty BB (RPEFKD ) 2 45 33.59
8. &I Rl%E (FScC ) 168 25. 45 8. ( )
No. 13 &F 50m  FkEFE FiE
g2 33.24 - 33.90
158 %5 IM-5{L 448 &5 IVMY-544
1. ( ) 1. #EF ®WA (KHWSS ) 163 34.00
2. B9 EIR (NASKXn ) b 223 41.55 2. ik fath (XY ZBIFF ) K2 111 32.00
3. KW K# (RaEFKSD ) b 52 40. 94 3. I AEER (TST ) X1 149 31.19
4. A 3HK (E—FtXE ) 2 209 40. 00 4. EH HE (k= ) 224 27.97
5. =k =& (DK HJISC ) 6 42 40. 41 5. ik Z2& (RoifEeEs ) =2 81 30.00
6. BK =4 (XY ZRBRF ) 05 143 41.19 6. &8 KB (RIFFEH ) =2 29 31.77
1. it BE (XYzamEF ) =i 136 42.75 1. B# Bth (DZHZ= ) K4 233 33.00
8. ( ) 8. A —1F (XY ZBIRF ) H2 123 35.04
No. 15 &% 400m MEAXFL— T
g2 4:53.71 K& 4:59.90
248 &5 IVM-544 =] IVM-44L
1.5 5 (KFES S ) =3 65 39. 11 1. ( )
2. REHWEARE (XYZRFF ) 1 133 38. 66 2. B%H 2 (SACOT ) 2 190 5:37.33
3. AR # (RIFTERE ) =3 34 37.95 3. &2 J‘L@ (R e ) =3 87 5:21.96
4. B3I 1EFg (RIFFERE ) =3 35 37.00 4. B ET (Jwbxm# ) /3 97 4:54. 61
5. By BF (ES P20 Ek] ) 2 98 37.05 5. @ (ES o ret] ) 2 100 5:21.44
6. HEEHHE (XYzimEF ) =3 127 38.55 6. EE DH3HE (KFES S ) &= 68 5:28.60
1. % EZ (NASKX%S ) i 219 38. 89 1. ( )
8. @@ XE& (KEES S ) 2 69 39. 11 8. ( )
No. 16 BF 400m M@EAXFL— FiE
g2 4:23.53 K& 4:24.75
34 %5 M54k 14H 3= IVM-544
1. 8 AR (XY Z3IRF ) 2 130 36. 06 1. ( )
2. =i 5 (XYzamEF ) =1 134 35. 82 2. ( )
3. IR Wi (WE$vAtt{4 ) &3 96 35.29 3. #LE ¥t (KFES S ) i 61 5:43.50
4. 185 SCHEER (XY ZBIRF ) B 128 32.60 4. kB #WE (XY ZRIRF ) 106 5:24.73
5. AE Xk (KES S ) K1 64 34. 40 5. N & (K#ES S ) &l 59 5:40.37
6. ERKEH (k= ) 229 35.75 6. ( )
1. #E #HK (KES S ) &2 66 35.91 1. ( )
8. ERNER (WE$vAtt{4 ) = 102 36.12 8. ( )




No. 16 BF 400m BEAXFL— TE No. 18 BF 1500m H@F PN
B 4:2353 K& 4:24.75 B 15:44.37 k£ 16:02 93
21%HU.12F B+ (ErER S ) =2 ﬁz Igb'ﬁ’;’éé 11l!ﬁﬂ ( ) a5 A
) BA BN (AREFAS ) B 44 50076 2 ( )
3. B E  GiR ) 227 4:50.00 3. KB EA (XY ZRIFF ) 106 19:14.43
4 ®XH T (KRABEXE ) A2 241 4:35.88 4. tE WA (NASKk%® ) 215  18:17.15
g. lLJu.I;; ﬁ’:ﬁ & :%g g ﬁg ;g 2451,(7) 23 g =E B E»wmm ; =y 92 18:49.45
. Al =] 2ol .
7. IUAK &+ (LAJSC ) th3 195  5:10.48 7. ( )
8. NIl EiME  (EEEEE ) S 16 5:15.00 8. ( )
No. 17 &F 800m E@W PR
B 9:03.78 K2 9:08.26
1 ( ) E3e IVM)-54L 21.%ﬂ ( ) =1 IVhY-444
2 ( ) 2. fp WA (IST ) &1 151 17:33.29
3. HA  FE (ST ) &l 155  10:44.79 3. B® AW b+ ) 230 17:07.58
4 SEHEX  (KHWHEE ) B 89  9:21.45 4 RO FH (KHWWAES ) &2 82 17:01. 14
5. AR T (TST ) @l 159  10:28.73 5 ®®E &% (XYZRF ) B 113 17:04.82
6. HfhHY T (XK#FES S ) &l 67 10:56. 00 6. ®E —3 (RoiEHEs ) = 74 17:16. 89
7. ( ) 1. A% WE (K#Es s ) 3 60 17:53.08
8. ( ) 8. ( )
No. 40 &% &60m A FL—JL— T&E
B 2:03.72 K& 2:03.72
I EamsEE ( ) i ERIG
2 WAUARHAS ( ) 20 2:13.00
3. RAEHAS ( ) 16 2:05.00
g. ;((%z;',mﬁ E ) 24 2:00. 00
. S's ) 12 2:05.00
6. RIFFIHE ( ) 8 2:07.50
7. TsT ( ) 28 2:15.00
8. ( )
No. 50 BT &60m X FL—UL— T&E
B 1:43.99 K2 1:43.99
‘Hﬂ‘-ﬁ ( ) F-LES IVM)-54L
2. ( )
3. WAYURIS ( ) 18 2:07.00
g. ;ﬁo_T ( ) 38 1:59. 00
. Ss ( ) 10 2:02.00
g. xHHSS ( ) 30 2:10.00
. ( )
8. ( )
248 N F-LEE IYN)-54L
;. ERERS E ) 2 1:58.00
Fsc ) 32 1:50. 00
3. RIRFSNE ( ) 6 1:50. 00
g. x*\fiiﬂlllﬁ E ) 22 1:43.00
| kA ) 36 1:44.96
g. ?E?rmfare.' E ) 14 1:50. 00
) 26 1:52. 00
8. LAEWLAC ( ) 34 1:58. 00
No. 51 &% 100m B@EW TE
-] 5.78 k&  51.78
148 E3= IyM-54L 2%8 B55 IVMY-444
1. #F 79m  (SACOT ) /16 191 1:17.31 1. =& #B (FScC ) 3 174 1:09.79
2. W WX (ST ) I 161 1:14.19 2. 82 = Oayadt(s ) i 101 1:07.59
3. MIEXIE  (SACOT ) Ih5 192 1:13.30 3 By 8@ GIFEE ) &3 35 1:03.60
4 BEHHEAE (XY ZRFF ) 133 1:11.20 4 =EBEX  (KHEEes ) B2 89 1:00 30
5. 8K MK (BES&T ) 2 56 1:12.12 5. WK ki (DH#JISC ) 3 41 1:01.37
6. KR B O&Batts ) /b 105  1:13.90 6. KT &%E  (LAJISC ) 3 198 1:05.49
1. =ik F#R (D{HJIJSC ) 3 40 1:15. 66 1. 5 e (Kn &g ) &l 25 1:08. 50
8. ( ) 8. HH BE (XY ZBIFF ) &1 137 1:10.70




No. 51 ZF 100m BEHF FiE

g2 57.78 N 57.78
3#H = IVM)-344
1. 88 ME& (XY Z3IRF ) /N6 139 1:09. 60
2. & &R (Fsc ) &3 172 1:07.52
3. R HT M (TST = 156 1:03.53
4. IRT TEE (BfEEX ) K1 239 58.78
5. Bl EM (W#4vAtT44 ) &3 97 1:01.16
6. ELL (W#4vAT44 ) H®2 100 1:04. 85
1. & BF (EpgsEs ) =3 19 1:08. 00
8. #HE #HE (FScC ) 3 173 1:10. 46
448 &5 Iyh-444
1. K B (TST ) &1 158 1:09. 05
2. EE #E (BIRTE ) B 36 1:06.74
3. INE EBI (BIFTEE ) B 37 1:02.98
4. BE D& (RFEX ) K3 2317 58. 34
5. R = (E—rXE ) 3 208 1:00. 88
6. #T FE lEpEEE ) = 23 1:04. 00
1. =8 E= (WE$vAtt{4 ) /N6 103 1:07.72
8. &ff HE (Fsc ) i 175 1:09.79
No. 52 BF 100m H@EE =

g2 49. 02 N 49. 52
148 5 | M-4A
1. 5B 80 (XY ZRIEF ) N6 126 1:07.14
2. %@ &4 (TST ) IhS 154 1:06. 36
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